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MATHEMATICS, CHEMISTRY AND PHYSICS
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1. Inverse of a diagonal non-singular
matrix is

A) Symmetric matrix
B) Skew-symmetric matrix

MATHEMATICS

C) Diagonal matrix
D) Scalar matrix
2 3
N:Eu:ﬁ&? |4H_nh+m..i=!mh
is symmetric and B is skew-symmetric
. thenB=
1 0
Alo 1
o
B 1y o
e
)21 o
-1 0
D) o0 1

3. IfAlis 3 x 4 matrix and B is a matrix such

that A'B and B’A are both defined, then
the orderof B is

A) 4x 4
B) 3x3
C)3x4
D)4x3

kg

© -1 L

E.ob

3 HRASE Ix4 b3l B =W
s & @ AB 3it B'A ¥ vionfiar
e, AAIBwER ____ ¥

A) 4x4
B) 3x3
C)3x4
D) 4x3

(Poseo3)
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2 00
4. The inverse of the matrix |0 3 0l is
0 0 4
X 0 0
A0 X 0
0 0 ¥
_,mna
—I0 3 0
B)
m#._n__un
._.lm 0 0
C)—| 0 -8 ‘0
ma.a 0 -4
% 0 0
D)JO ¥ 0
nn..m

5. Ifa,a,,...,a,,.. are in G.P. then

_n.nm: _nﬁﬂ_.__...._ EP.IM
_S_m.:.u_ _n_ﬁ_m._._.__..__ _ﬂﬁﬂs._.m Is
__a_w:.__,n. _Eﬂ:.—.u EN—I&

A) 0
B) 1
C) -1
D) None of these
6. The characteristic equation of a matrix A
I8 3% - 5a% - 31 + 21 =0 then |ad] A| =

A) 4 B) 25
C) s D) 30

5. ¥R a, a,,....

loga,,
at |loga,, ;5
loga, g

A) D
B) 1
C) -1

8, ... T g A R,

EH_:._ r..ﬁun:_,m
loga,,, loga,,s
loga,,,; loga,.,

4

D) wif & wi{

. AR A w1 fiftre witwm

Nos2-an+20=0 8 @

|adjA| =
A) 4
C)9

(Paohors)

B) 25
D) 30

3EE




¥

The area of region bounded by the lines
y=mx, X=1and x =2 and the x-axis is
7.5 sq. units, then mis

A) 2
B) 3
C) 4
D) 5

. The order and dagree of

Let A, B, C, D be the points with
position vectors 3} —2j -k,

21 +3j -4k, —i+2]+2k and

41 + 5] + Mk respectively. If the points

A, B, C, D lie on a plane, then the
value of A is

A) 0

37
m”_..m..

-37
C) = =

D) 1

r wﬂqtnﬂﬂ.xﬂiuﬂqnﬂm%::ﬂﬂ#

yitmfm &% %1 f9%a 7.5 71 30 &,
Tt m 4

A) 2
B) 3
C) 4
D)5

A) 2,2
B) 2,4
C) 1,2

D) 1,4

. WA et A, B, C, D figaii @ feufa

wiEm o mﬁlmﬂrm. mq+uﬂ|£m.
~T+2]+2k 3 4i+5]+ 0k B)15R
fig A B, C, D@ w R, & A&
Gl 2l

A) 0

m_.wm

=37
C) =

D) 1
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10. Let & b, & be three vectors having

11.

magnitudes 1, 1 and 2 respectively.
Ifax(@xE)+b=0, then the angle
between 3 and C is

A) B
B) 51/
C) %

D) Both A) and B)

?nn_uﬂznnaﬁmuu_z_km._u.n;ua
the x-axis is ;

A) a

B) Jb?+¢?
C) Ja?+b?

D) a?+b?

12. 131D and (@+D) L(@+mb),

13.

thenmis

A) 1

B) [’/
-

C) -1 D) .IEH

If the points (-1, 3, 2), (-4, 3, -2) and
(5, I, m) lie on a straight line then  and

10. 7F #fifew &, b, o afew &, R
em a1, 1328 3R
dx(@xE)+b=0fMames
st =1 Fo 11

A %
B) 5%
C) %

D) A) 3k B) 21

M. x-afg AR, b c)figh %

A) a

B) JoP+c?
- C) Jat+p?

D) a%+pt®

12. ¥R aLb ¥k (@+b)L(@+mb)

gdm 2
) [/ "

A) 1
Erl%

13. @R f&g (-1, 3, 2), (4, 3, -2) 3k
(5, L, m)T@tEmwR, @/ shm

C) -1

m are 2
A) 3,10 A) 3,10
=D B) -3,-10
€)-10 C) -3, 10
Hi=10 D) 3,10
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14,

15.

16.

The equation of a circle passing

through the point (1, 1) and the point
of intersection of the circles

x2+y? +13x -3y =0 and
2x2+2y? + 4x - Ty-25=0 is

A) 4x® 4+ 4y?+30x-13y -25=0
B) 4x®+4y?+30x-13y+25=0
C) 4x®-4y*-30x +13y-25=0
D) 4x® - 4y® +30x-13y-25=0

The digit in the unit place of 7% is
A1
B) 2
C)3
D) 4

If a=b (modm) and x is an integer, then

- which of the following is incorrect 7

17.

A) (a+ x)=(b+ x)(mod m)
B) (a~x)= (b~ x)(mod m)
C) ax =bx (modm)

D) (a+x)=(b+x)(mod m)

If a and b are positive integers such that
(a® - b?) Is a prime number, then

A) a®-b?=(a+b)
B) a®-b?=a-b
C) a®+b®=a-b
D) a®+b*=a+b

i

14. B (1, 1) 3MTE 2+ y2 +13x -3y =0
M 2x2+2y2 4+ 4x-Ty-25=0%

wirege fig ¥ 79 9 g9 =1 Wl

IS {

A) 4x%+4y? 4+ 30x-13y-25=0
B) 4x*+4y®+30x-13y+25=0
C) 4x?-4y®-30x+13y-25=0
D) 4x?-4y? + 30x-13y-25=0

B i N

15. 7% & vah TOH o 3@
A) 1
B) 2
C)3
D) 4

16. Ufa = b (mod m) 3 x v yufs &, A
Frefafm i s o emi 7

A) (a+x)=(b+ x)(modm)
B) (a-x)=(b-x)(mod m)
C) ax =bx (mod m)

D) (a+x)=(b+x)(mod m)

17. SR a 3 b wwews quits & 3¢ e
(a? - b?) My gem &, &
A) a?-b?=(a+h)
B) a®-b*=a-b
C) a®+b*=a-b

D) a®+b*=a+b

(_Page No.7 |




18. Which of the following is false ?
A) (N, +) Is a semi-group
B) (Z, +)is a group
C) (N,-) is a group
D) Set of all cube roots of unity is an

abelian finite group under
multiplication

123456
19. Hi=
m_:ﬁumnmAme._

12 3 4 5 8)
Nlz4675 1
f1 2 3 45 6
Blls 213468

C)la 25 138

D)

20, In a group G, the equations ax = b and
ya = b have

A) No solutions in G

B) Infinite solutions in G
C) Unique solution in G
D) Dependsonaandb

18. feffem i s m smma b 7
A) (N, +) T s wp &
B) (Z, +) wuE d
C) (N-) v &7 &
D) M % TEn U & oYl O el @
ey sAateran difim g
o, 1o} 2

3 4 5 6 s
3245 16"
@1 B

Alla 4675 1

B)

)
e
—
)
R M
0 W
-t
Ly @n
n On
S

20. w9 G # vl ax = b 3 ya = b

g
A) G ¥ =% TmaA T
B) G 3a GumH

C) G ¥ us wrF wHuMA
D) a 3t b w Mft s &

A — Page No. 8 _ 3EE
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21. f x+y=1tan"'y and y" = f(y)y’ then
fly)=
A) B)

2
y
-2
v

L.

D)

+1
22, If f(x) = umxﬁ H it X # 0 then
0 ; Wx=0
which of the following is correct 7

A) f(x) is continuous and f'(0) does not

exist

B) f(x) is not continuous

C) f(x) is continuous and F(0) also
exists

D) None of these

23, Hy=gin”' (77X + {T=) then
y =

21,

23.

FR x+y=tan”ly 3 y*=1y)y ¥,
@ fly) =

1
Ay B)

< |

2 -2

C)

A f(x) = .ﬁ_m.m»i&h ARx#0 7
0 ; FRx=0

FreafafEn s omwht ?

A) f(x) Frem & o 1(0) sfRma Al d
B) f(x) P 1 8

C) fix) Frem 2 3l F(0) i sF= i &
D) ¥ A B __

i wumw._.umt._+n+¢:li?

A [ #Ragesdioss | 3EE




24. If x"y" = (x +y)™*" then y =

E.I...

C)

=

fy=x" ,theny'=

=
x__._ ylogx)

o L
1-ylogx

v«h
©) = yiogn)

e i
1-ylogx

(g e

Xyp + Xy, =
A) n?y
B) -n%

3

C) y?
D)y

24, AR x"Y" = (x+y)"*"R, Wy =

____.L._H__qN

X

( Page No. 10 |
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The angle between the curves
x2+y® =25 and

x2+y?-2x+3y-43=0at(-3,4)is

A) tan™'(1)

) tan”(Jg)
) %
o) tarr(%)

3. Aman g’ tall moves away from a source
of light 20’ above the ground level, his
rate of walking being 4 m.p.h. At what
rate is the tip of his shadow moving ?

12
A) =

3
B) 7
40
C) 7
D) None of these

. The maximum area of a rectangle that
can be inscribed in a circle of radius
2 units is

A) 8 5q. unils
B) 4 sq. units
C) 8n sq. unils
D) 4= sq. units

27. (-3, 4) T x2 + y> =25 3N
x+y?-2x+3y-43=0 FA=T
I 14

A) tan”'(1)

8) tan”'( Y5)
c) %
D) tan”!(%)

28. 6 52 F T e e T A 20 2
I % v % wa ¥ g B | 39S
wwer &1 2 4 et vt v R | Tueh wer
fisfFraaasmwie?

12
A) 7

E_.w.
n_,.%
D) va# & % el
29, 2 w&rd fwm & g | sAfea mga =
Ty S 4
A) 8 =i geral
B) 4 =i yeai

C) 8x =i gwrizl
D) 4x = gereal

[pPage bo: 11 | 3EE
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30. If the function f(x) defined by

il PN
Xl= =
f(x) A_..ﬁ._+ﬂ+..:+m+u__"+._.

then f(0) =

A) 100110)

B) 1

C) 100

D) None of these

31. The value of the integral
Jer {0+ 1) Jox s

A) e*f'(x)+c
B) e*f(x)+c

4
C) —+C

fx)

e
D) mm__...-.n

cos® x
cix
1+ a*

T
32. The value of the integral ._.
=it

as0is
A) 1
B) 0

C)

=

D) n

30. W Fe f{x) =t

31.

32. HuTReH

A) 1001(0)
B) 1

C) 100
D) 3o @ =1 7

wreer [ € {1(x) + F(x) Jox s gy

el |}
A) e*f(x)+c
B) e*f(x)+c

ﬂ.u
C) ﬂtu

m.u
f{x) Y ’

D)

x 2
CO5™ X
-___n._+m__n

2

dx, a > 0 #1557

A) 1
B) 0

C)

nlA

D) n

| Page No. 12 ] 3EE




33, The value of the integral

mn_.mx:._vu
.__. (x+1P FrTeT

AL _ST._..; ¥

B) & _EHH.TJ

x=1

C) muﬁu._l.“__,fn

X+ 1

D) e HHL +C

34. The area enclosed between the
parabolas y? =16x and x? =16y Is

A) w 5q. units

256
muLMIﬂE+E§m

16
C) - sq. units

D) None of these

35. The solution of y’ = e*-¥ + x% is
A) 3(e' -e*)-x¥=c
B) e'-e*-x?=¢
C) e¥-e"+x*=c
D) 3(e"-e*)+x* =c

C) m..mum +C
,uli

i
=1
mx
o ..u+._w+n

34. 7@ y* =16x 3 x? =16y @ 7wg

& o 1 v ]

Mi%
) 22> o vaviaf

C) %iﬂﬂa
D) v & =1 i

Y =" Yaxle Y FEIYR ¥

A) 3(e"-e*)-x*=c
B) e¥—e*-x3=¢
C) e-e*+x¥=¢

D) 3(e¥-e")+x*=c¢

| Page No, 13 ] 3EE
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36. The value of __:m._.‘_ﬁm unm -

37.

5) 4
A A 1 < _1
C) tan"'(239) D) tan""(139)
I m_:-qu E;_mwum. then the
value of x
A) 3 B) 2
C) 1 D) 0
The general solution of

&Wﬂnmﬂ+ﬂ5#ﬂ.‘_@l.-ﬂnﬁs_:ﬁ@ﬂmn

“n"is

L
ne+—+=
A) nx+2t2

n . =n
m MM=—%—
) 6 4

o - &
C) mH

E ]

D) 2nm+ =+ X
) 6°4

The imaginary part of conjugate of

14

1=i| '8
A) -1 \
B) ~i

C) 1
D) i

iy
36. 4tan A&-m w8

ar7.

af 1
139 - _MM#L

D) tan™ mmm_..

()
C) tan™'(239)

M ﬂ:-,_ﬁmf cosec™ Hm Hn L

5 4
#1 e B
A) 3

B) 2
C)1

D)0
J3cosx +sinx =+/2 , B quts " &
o amny wa L4

L
m+—+
A) B

)=

. =0
m-2+2
B) = s*a
2rm-Z3 7
C) T

Eﬂ+hwm
D) Mt E*3

HEH R p— -

1=
2

A) ~1
B) =i
C) 1
D) i

- Tuunu _._E....__:

3EE
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40. If p is an imaginary cube root of 1,
then the value of 1(2 - o) (2 - %) +
2B-0)(3-0%) +..+(n-1)
(n-o)(n-w®)is

A) R.HM..-..I.__._..I_._
B) _._m.“_...n+._m e

C) _._A:m+a+_._

n(n+ 12

D) 2

+N

41. The equation of the tangent and normal
totheefipse x° + 2y* + 2x -4y - 14 =0
at(2,-1)is
A) 3x-=4y-10=0,4x+3y-5=0
B) 4x+3y-10=0,3x+4y-5=0
C) 3x~4y-5=0,4x+3y~10=0
D) 3x—-4y-10=0,4x-3y-5=0

42. Ifthe line 2x + /6 y = 2 touches the
hyperbola x* - 2y? = 4 , then the point

of contact is
A) (-4, 8) B) (-4,-6)
C) (4,-+/6) D) (4,6)

43. The angle between two diagonals of a
cube is

) oos( \,& ) cos”'( J4)

C) ao° D) 45°

40. 3T 1 W1 FIIlH GG o B, A

41,

12~ (2-0°)+ 2(3-0)(3-w?)

+owt (=1 (n-0)(n-o?) T g
2

alz

}__ =M+
n?(n+ 172
4

C) il:m._“_m+:

m(n + 17 +n
a

B) -n

D)

NhgE %%+ 2y%+ 2x -4y ~14=0 W
(2, —1) 9 =9 T afh avfvera 1
wtE 2

A) 3x—-4dy-10=0, ax+3y~-5=0
B) 4x+3y-10=0,3x+4y-5=0
C) 8x=4y~5=0,4x+3y—10=0
D) 3x-4y-10=0,4x-3y-5=0

FRE 2x + /6y =2 AfrwEm
x* - 2y? = 4 = vl W B, A

fig 1

A) (-4, 48) B) (-4,-6)
C) (4, -6) D) (4,46)

o % 7 el & e wr s g1
A) nﬂ-am\hu 8) cos'( J4)
C) 30° D) 45°

A :;ﬁ_ﬁ. 15 | 3EE
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A, #anﬂmmgiasuﬁii_nziﬂﬁﬁ
the line joining (3, 0, 5) and (1, 2, —1) at
right angles is
A) 2x+y+22=7
B) -2x+2y-6z=7
C) x-y+2z=7
D) x-y+3z=7

45. The equation of the fine passing through
the point (5, 3, 2) and perpendicular to

o L T
qﬁEEmn mue 5 #Eﬂ
1 -1 1
uldumlulm+4
2 1 D
unmnwluuntm
N
X+1 y-2 z-3
s 3 v
x:muﬂrmumlm
1 -1 1
X-5_y-3 z-2
e

46. The vertices of the hyperbola are at
(-5,-3) and (-5, -1) and the extremities
of the conjugate axis are at (-7,—2) and
(-3, -2), then the equation of the
hyperbola is

A) D_._I._MH__N - (x Ihm.“_u =1

@Lm-ﬁi%.
B) : S

o) ?Hmm 3 ?Jm._» -1

Is

C)

44. (3, 0, 5) 3 (1, 2, -1) % gy &
g Ya 5t e woas s
&1 wefta 2l
Al 2x+y+22=7
B) 2x+2y-6z=7
C) x-y+22=7
D) x—y+3z=7

45. 1&g (5, 3, 2) A ot T sy

X-5_y-3_2z-2
2 1 0

D)

46. ftweea ¥ i (-5, -3) abv (-5, ~1) 2
AR EH 308 BN (7, -2) 3 (=3, -2)
2, 9 st w1 el gl

y-2° (x-5)
A) 1 4

(v+2P (x+57_
B) = =1

?+mmu¢+~1n
©) wl

D) nhl.....".—.mwn ??IMHN =1

=1

1

| Page No, 16 | 3EE




47.

Two dices are thrown simultaneously.
Hu probability of obtaining a total score
Sis

A and B are events with
P(AUB)=3, P(A)=9/ and

P(A jmunk then P(B) is
A 8) %4
¢) % D) Y4

The probability that among 7 persons,
no 2 were bomn on the same day of a

week Is
B) 7%

A) %
C) R._. - D) Wﬂu

For the events A and B, P(A)=3/,,

P(B)= J, PIANB)= 14, then
P(A/B)=

N Y
OEA

B) s
D) %

“. m-nu ﬂu._nm..., _

47. 2 96 F T w1 Han wen 8 | g i

49,

50.

STAEH S IR ¥
A ¥

B) Mg

) )z

D) Ye
. A 3l B vl § M P(A UB)=T,
P(A)=24 3k PANB)= 1, 8,
P(B) Ri

N J B) %

0 % 0 %
i 35 it 2 S e 5 0 o
%1 3 8 i it gl

A) % B) 7%

C) o D) %

A 3i B wemsit & Ry, P(A)=3/,

PB)= }5. PLANB)= J &,
P(A/B)=

A )y B) s
) 3 D) 5
3EE




CHEMISTRY

51. Acid catalysed hydration of alkenes
except ethene leads to the formation of

A) Secondary or tertiary alcohol
B) Primary and secondary alcohol
C) Secondary alcohol
D) Tertiary alcohol

52. Among the following which is least
acidic ?
A) Phenol
B) O-cresol
C) P-nitrophenol
D) P-chiorophenol

53. An ether is more volatile than an
alcohol having same molecular
formula because

A) Dipolar character of ether
B) Alcohols having resonance structure

- C) Intermolecular hydrogen bonding in
ethers

D) Intermolecular hydrogen bonding in
alcohols

54. An organic compound A[C4HgCl) on
reaction with Na/diethyl ether gives a
hydrocarbon which on monochiorination
gives only one chloro derivative then,
Als

A) Isobutyl chloride

B) Secondary buty! chioride
C) Tertiary butyl chioride

D) n-butyl chioride

g o

51. vdfi7 %! gew wehe & e 3o
S &t Fifsfelt % g 2
A) T 1 gefies tesiem
B) wufies 71 fifas teerm
C) fadflas tewiem
D) T tehmte

mm,mﬂ?@mmwﬁwﬂﬂiqﬂuaz
A) dHTE

B) -
C) M-t Bt
D) f-weridrTa

53. @& & amifes Ee demE @ dw
st sifein & wifs

A) $ 1 figefly ey

B) T e #1 srpm s

C) ¥4t 3im 3mvifes gregiert srpm
D) Trhreier & st swoifdes eregior srgay

54. UF FE difi A(C,H,Cl) Hifeam
TR U % W sl @
BRI 401 & o W o e
T g e A A 3
A) 3Te ST s
B) fidfus sgerder e
C) v sgerde weiise
D) W-=42a winme
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25,

An oxygen containing organic
compound upon oxidation forms a
carboxylic acid as the only organic
product with its molecular mass higher
by 14 units. The organic compound is

A) A ketone

Anisole can be prepared by the action
of methyl iodide on sodium phenate,
The reaction is called

A) Wurtz reaction
B) Williamson's reaction

. C) Fittig's reaction

57.

D) Etard's reaction
Consider the following reaction :

 CgH3OH+H,S0, = Product. Amang

the following, which one cannot be
formed as a product under any
conditions ?

A) Ethylene

B) Ethyl hydrogen sulphate

C) Acetylene

D) Diethyl ether

From amongst the following alcohols

the one that would react fastest with
conc. HCl and anhydrous ZnCl,, is

A) 2-methyl-propan-2-ol
B) 2-Butanol

C) 1-Butanol

D) 2-methy! propanol

65.

57.

| Page No. 19 |

Sl W ST e A
R e Fem & 14 va s
T W1 FEH e 3091 3 w0 1 miiahieme
e e 8 | T w2
A) TF #F2H

B) w tfekee

C) wF wufie deshiie

D) @ fiefirs dwnidier

wifewm fifde w dvmgm stteree &
sl & W tan s gsa 2
walfrm®__ smammd
A) w3 wfufism

B) Ffermee sififism

C) fferg srfifirm

D) wedy affEn

et sififsnait 5 e F i
CoHsOH + H,80, — 3 | fr=frfiam
H 8w el oft Rl & v 3mren & wy
LEGE DR RS

A) Ui

B) uTe ¥RgIT Wl

C) uftfeefm

D) swadye fon

- B tete & A o o Ao A

HCI 3 fisfer ZnCl, & srfrfian s
Rlawk

A) 23T -g-2-37e

B) 2-sggta

C) 1-=géta

D) 2-fume whTe
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58. Hydrolysis of aromatic amide gives

61.

A) Acids

B) Amines

C) Alcohols

D) None of the above

. Methyl phenyl ether can be obtained by

reacting

A) Phenolate ions and methyl iodide
B) Bromobenzene with methoxide ions
C) Methanol and phenal

D) Bromobenzene and methyl iodide
Which of the following is correct
statement ?

A) Acetophenone is an ether

B) Diastase is an enzyme

C) Cycloheptane is aromatic
compound
D) All of the above

Which of the following is incorrect ?
A) FeCly is used to detect phenols

B) Fehling's solution is used to detect
glucose

C) Tollen's reagent used to detect
unsaturation

D) NaHSO, used to detect carbony
compound

59. WRs iz fiemgafm______

61.

eI

CYRHEE:H

B) tmrew

C) e

D) wH & = o 7eff

&t sfufda 8 dune fema
o R e €

A) TR s ot BumE s
B) HuleaRe AR ¥ w9 FEA
C) wefaTe o i

D) FmE=iA iR e srens

W ol wu R 7

A) TR ue fom B

B) ERW T G

C) wieaeiees Us i i §
D) = & avft

e das o ?

A) FeCl, %1 3 Hrfe =1 o &l &
fefmemd) .

B) Hefem zraw &1 3din s w5 gar
wH % R B @

C) e s =1 I9m smdgaa = |

ool o o R e a1

D) NaHSO, %1 I Fmifrer 4w @
v T & e e s g

_nnizn.ﬁw
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63,

66.

Which one of the following is not a
condensation polymer ?

A) Dacron
B) Neoprene
C) Melamine
D) Glyptal

. Which of the following statements is

false 7

A) Repeat unit of natural rubber is
_mn_...«m_.ﬁ :

B) Both starch and cellulose are made
up of glucose units

C) Artificial silk is derived from cellulose
D) Nylon-6, 6 is an elastomer

Bakelite is formed by the reaction of
A) Phenol and formaldehyde

B) Formaldehyde and aniline

C) Adipic acid and ethylene glycol
D) Phthalic acid and ethylene glycol
Which of the following is fully fiuorina
palymer ? : :
A) Neoprene

B) Teflon

C) Thiokol

D) PVC

Which of the following is a polyamide ?
A) Tellon

B) Nylon-6, 6

C) Terylene

D) Bakelite

63. Fr=feritem # 3 97 a1 Hdhow wgme @1 8 7

A) w4

B) fsii
C) Hemre
D) fRreia

Fefefm it s o st ?

A) Wi W& s A v

- AmER R

B) werd i drgpeita it e vea
g en ¥ |

C) M tom = dggeia & s & |

D) El-6, 6 U TART § |

. whETlR FR A s g e R 7

A) $rfa sl wniifceere
B) wrifreese sl sifafem
C) Ufedis e aik gemgeh rengerien
D) wiifers e 3l verseln gt

.mﬂﬂ_ﬁmmﬂ%aﬂaﬂw%.

a7
A) Fsimf

B) 2wla

C) fudtia

D) ot ==,

. FrafafEs 4 8 9 51 o vz 2 7

A) 29

B) A7@i4-8, 6
C) e

D) @%wmge
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68. Plexiglass Is a commercial name of 68. wffmeg #1 @& =Eais ™
A) Glyptal — &
8 _ ate A) Ferete
) Polymethyl methacryl B) :
9} oty C) v
D) Polyacrylonitrile D) wRfsermeese

69. Among cellulose, poly vinyl chloride
(PVC), nylon and natural rubber, the 69. Begely, Tieranfie witoge (4.4.40.),

a3 Wk w F T s
polymer in which intermolecular forces & o
of attraction are weakest is Mﬂ_ﬂﬂﬁﬂ R
A) Nylon A) TRt
B) PVC B) f.dt.ah.
C) Natural rubber C) wigfe= w5
D) Cellulose D) #jeira
70. The monomer used to produce orlon is 70. AmwfmnsE g
A) CH, = CHF AR 1 3vah fEa s d )
B) CH, = CCl, A) CH; = CHF
C) CH, = CHCI B) CH, = CCl,
D) CH, = CHCN C) CH, = CHCI
71. Glass is U Che=CHEN
A) Polymeric mixture 71. =W 21
B) Gel A) Fgeem o
C) Super cooled liquid - B) M .
D) Microc ine solid ) il
- D) TmifrieeRT 3

72. Among the following substituted -
silanes the one which will give rise to 72. Frefefln sfenfa Rt i

cross linked silicone polymer on ERgIfefew v win- o feg g fufemis
hydrolysis is gifer & Frmior @ 8

A) R,SICI A) R,SICI

B) mum_ﬂ_m B) mum_ﬁ_u

C) R,Si C) R Si

D) RSiCl, D) RSICly

A H Page No.22 | | 3EE
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73. The polydispersity index of the polymer

74,

is always
A) 1
B) <1
C) 2
D)1or>1

Which one of the following statement is
incorrect about enzyme catalysis ?

A) Enzymes are mostly proleinous in
nattire

B) Enzymes are least reactive at
optimum temperature

C) Enzymes are denalurated by
ultraviolet rays and at high
temperature

D) Enzyme action is specific
- Which one of the following is an

example for homogenous catalysis ?
A) Manufacture of sulphuric acid by
Contact process

B) Manufacture of ammonia by Haber's
process

C) Hydrolysis of sucrose in presence of
dilute hydrochloric acid

D) Hydrogenation of oil

. Among the eléctrolytes Na,SO, ,

CaCl,, Al,(SO,), and NH,CI, the
most effective coagulating agent for

Sb, S, solis
A) Na S0,
B) CaCl,

C) Alx(SO,),
D) NH,Cl

73. geE W iOTeafiA Rewwdm
B d
A) 1
B) <1
C) 2
D)1@i>1

74. Frefafas == 1§ F 917 @ varm 38
FA A e f 7

A) TaTEn sTftrRR SidagT s &
¥

B) F=mm Ao W uaTE w0 A
TA R |

C) Usirgy IFegratacr i sit se5 aram
7 a1
D) tamgn i ffire 8 8

75. P 0 @ 25w aah 3@ seme d 7
A) T sl g s Yt w i
B) #= % Wi T s = Bmfoy
C) s=fifm eRgwiie tfre it svfdafy
o R 1 wTegreE -
D) da ) Tegiem

76. SERIRIERE Na,SO,, CaCly, Aly(SO,),
A NH,CI § Sb,S, Wl % R gad
ﬁ%ﬁﬂﬂﬂml 1 1

A) Na,SO,
B) CaCl,

C) Al;(SO,),
D) NH,CI

ﬁ._ﬂ%._ﬁ..ﬁ_
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77. Which of the following statements is

incorrect regarding physiosorption 7

A) Under high pressure it results into
multimolecular layer on adsorbent
surface

B) More easily liquefiable gases are
adsorbed readily

C) Enthalpy of adsorption (AHagsarpion)
is low and positive

D} It occurs because of van der Walls
forces

" Gold numbers of protective colloids
A,B,CandD are 0.50, 0.01, 0.10 and
0.005 respectively. The correct order
of their protective powers is

A) A<C<B<D
B)B<D<A<C
C) D<A<C<B
D) C<B<D<A

_ When a sulphur sol is evaporated,
sulphur is obtained. On mixing with
water, sulphur sol is not formed. The
sol is

A) Reversible
B) Hydrophobic
.E Hydrophilic
D) Lyophilic

L Prrferfiea i 18 9 @ i sfere

FTATEas?
A) 79 7 § Sftfea 7w W
g e & gforf g e |
B) %ﬂiﬂ%gﬂ%
AEE R
C) sftrginen = TR (A Hagsorption)
sl we
ugﬂﬂﬂiﬂ&iﬂ_ﬁ;?f

78. ﬂaﬂﬁ&aﬂm?mh&nnﬁ%

£ gen ¥w9: 0.50, 0.01, 0.10 aih
0,005 & | 3R g Wi 1 el F

Y

A) A<C<B<D
B)B<D<A<C
C) D<A<C<B

D) C<B<D<A

.ﬁﬂﬂmﬂﬁﬂﬂ@ﬂfﬂaw.a

et T B 3 1 O A free W
semaam e EE_____ B
A) el

B) BIEEIRIeE

C) wrgihem

RGEUEAEE
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80. The hydrocarbon which can react with
sodium in liquid ammonia is

A) Styrene
B) Acetylene
C) Propylene
D) Pentane

1. The compound formed as a result of
oxidation of ethyl benzene by KMnO,, is
A) Acetophenone

B) Benzophenone

C) Benzoic acid

D) Benzaldehyde

82. Alky! halides react with dialkyl copper

reagents to give

A) Alkanes

B) Alkenes

C) Alkynes

D) Alkyl copper halides

83. Some meta-directing substituents in

aromatic substitution are given. Which
one is most deactivating 7

A) —SO4H

B) ~CN

C) -COOH

D) =NO,

. When 2-butyne is treated with
Pd-BaSO,; the product formed will be
A) 1-butene

B) trans-2-butene

C) cis-2-butene
D) 2-hydroxy butane

80, W EregrETE xa it # wfem &

g s mEEmtE ¢
A) =ifm

B) tfafzelm

C) e

D) ¥=A

1. KMnO, % g yunset aefi & sifaelia

84.

# gftom =& s = B
A) THRIERA

B) #wrdiHia

C) ==ig® v

D) Fwfeeee

Mfera temeey Trtfene Wi T
% g D o T |

A) T

B) e

C) U

D) Tfere wiw SEeEH,

. TS v & o Ao-wEiERn

uftreeaet i e T R FH A WA W
wa war Prefaws & 7

A) -SO,H

B) -CN

C) -COOH

D) —NO,

W 2-sgzrda & A Pd-BaSO, %
oy gl &, @ I8 1 TSA
TR

A) 18R

B) Zig-2-s4gH

C) ftm-2-=gim

D) 2-¥rgwht =g&A
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B5. Which of the following has highest
knocking effect in IC engine ?

A) Branched chain olefins
B) Olefins
C) Aromatic hydrocarbons
D) Straight chain olefins
86. Which of the following acids does not
exhibit optical isomerism 7
A) Tartaric acid
B) Lactic acid
C) Maleic acid
D) o-Amino acids
87. Which of the following reactions will not

result in the formation of carbon-carbon
bond ?

A) Reimer-Tiemann reaction
B) Friedel Crafts acylation
C) Wurtz reaction

D) Cannizzaro reaction

88. The standard emf of galvanic cell
involving 3 moles of electrons in its
redox reaction Is 0.59 V. The
equilibrium constant for the reaction of
the cell is

A) 102
8) 100
C) 10'8
D) 10%

87.

. Frefafias 4 & 99 w1 tfE Siesa

. Yeag atfifem § 3 ew SRR

fo=r 11 @ fom 0 ardelt $or i e R
Hifen yvE B S 7

A) mE e e,

B) sfrafey,

C) s eregiweEA

D) &t S e

srgamifen vafifa @ #wm 1
A) zrEhe

B) gura
C) welgh e

D) o-UfiE! 3

fret & #1  w-FEa S
afonfa 7 & 7

A) -2 sfufien

B) Seet wey Y

C) =ém wiulEm

D) F=frwmi sfufsan

Hreatfiver e 1 e emf 0.59 VR 1 FE |
sifufEn & foe v e 2
A) 10%5
B) 1020
C) 10'®

D) 10%0

Tuuunzu. ump
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89.

91.

The potential of a hydrogen electrode
atlpH=101is

A) 0.59V
B) 0.00V
C) 058V
D) -0.059 V.

Which of the following electrolytic
solutions has the least specific
A) 0.002N

C) 02N

D) 2N

Dissolving 120 g of urea in 1000 g of water
gave a solution of density 1.15g/mL. The
molarity of the solution is

A) 1.78M
B) 2M
C) 205M

A 5.2 molal aqueous solution of
methyl alcohol, CHyOH is supplied.
What is the mole fraction of methyl
alcohol in the solution ?

A) 005

B) 0.10

 C)0.18

D) 0.086

89.

0.

21.

82,

pH = 10 T EEERMA oS &1 fava
eABL G ¢

A) 0.59 V

B) 0.00V

C) -0.59 V

D) -0.059 V

firiffn seremsfes: frerrl 3 & woa
% fifire v w7

A) 0.002 N

B) 0.1N

C) 0.2N

D) 2N

1000 T8 T 3§ 120 U gien i SieE

ot fermm &1 WA 1.15 g/mb W B
¢ | Tomam <t wemn 21

A) 1.78M
B) 2M

C) 205M
D) 222M

RaTee Tewieia & 5.2 Hiew faadd

CH, OH =t 31rfef < sireft 8 130 4 g
e 1 e SeE w7

A) 0.05
B) 0.10
C) 0.18
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03. 58.5gm of NaCl and 180 gm of glucose

94,

were separately dissolved in 1000 mi
of water. Identify the correcl statement
regarding the elevation of boiling point
(b.p.) of the resulting solutions.

A) NaCl solution will show higher
elevation of b.p.

B) Glucose soiution will show higher
elevation of b.p.

C) Both the solutions will show equal
glevation of b.p.

D) The b.p. elevation will be shown
by neither of the solutions

Reaction of acetone with HCN gives
A) Substitution compound

B) Addition compound

C) Elimination product

D) None of the above

dentify the correct statement.

A) Reaction mechanisms are studied
using isotopic labelling

B) Isolation of reactive intermediates
is a method to establish reaction
mechanism .

C) Both A) and B) are correct

D) Neither A) nor B) is correct
Identify the monomers from the
following.

A) Acetic acid and benzoic acid
B) Adipic acid and ethylene glycol
C) Ethylene and ethanol .

D) Phthalic acid and acetic acid

93.

95.

96.

58.5 gm NaCl 3} 180 gm wF® =
1000 mi 9T ¥ T 9 # Wic fedt Sl
2 | ufonfir fae # Faga & 39
# wel T Al wYa & yeuH |

A) NaC! fieraa #uars &7 398 3= |

ER IR

B) e (e Faeis %1 399 I~
axitan 8

C) 2! e FuTE &1 §HH 5T
e @

D) &l faeaHl gra FaAT W1 A e |

ZIAT HEl

HCN # Ty 2 o siftifean @
 y=mEm R

A) wivEana i

B) @ i

C) faeiwm 3ae

D) wad & =g ofi 7l

e 99 H TE9H

A) YR S 1 SR e A .

% 1 apeaa foan wman R |
B) sifufrurars fedufice & quaFw o

T o Tt w4 O A el |

C) A) 3ir B) 3 @el 81
D) A A) 3l & B) FE R

Affiga § @ AFmE $) gEeE #= |
A) TR tfte 3l deeE the
B) tfed tfag 3 yurgel TmERie
C) sumset 3R &

D) wiftrs e kil Uit
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a7.

Hydrolysis of cyanchydrin derivative
produces

A) on_._uuél nn_nw
B) Alcohals:
C) Aldehydes

_E Ketones

100.

Which of the following do not contain
carbon - oxygen double bonds ?

A) Ketone
B) Esters
C) Acids

D) Ethers

Chloroethane reacts with X to give
diethyl ether. The compound X is

A) NaOH

B) NaOEt

C) H,80,

D) NayS;0,

How do you distirguish chiorobenzene
from benzyl chioride 7

A) AgNOj, test

B) Schiff reagent test

C) By analysis of elemental
composition

D) By adding sodium bicarbonate

 C) iy

100.

| PageNo.29)

T 8 e # wel- e oam ot
TR 7

A) FEra

B) w=d

D) dud

TR ol X ) sffEm & srmem
S WA Eren § | e X i
A) NaOH-

B) NaOEt

C) H,80,
D) NayS;0,4

um #e e 4 F0eeT w1 3R
TR 8 7

A) AgNO, wiigm

B) firs stfiersis whew

C) Terwedta Hata =1 favdtyw 50 |

D) Wifsm amewtE Srgae iy
. 3EE




PHYSICS | s

101. The dimensionalformula for permittivity 1 Q@
of free space (g5) in the equation 101, Fa dme, ° A el ST
el mmﬂ where, symboals have RIS (€0) F e amamfiag
Az ® | e wefter =1 @ e B

their usual meaning is

A A MTLP AR TH)
8) ML T A2 B) ML T* A%
C) ML2ARTY AL A
DA e D) M'L* T2 A™)

102. A body moves along a straight line 102. % 75 2 Fae & for 3 me 2 R &
with acceleration 3 ms 2 for 2 seconds a1 3T % 3 dohe & 1T 4 ms™2 =
and then with acceleration 4 ms 2 for & Y WS T H wer €, @ 35 afien
3 seconds. What Is his average T R 7
acceleration 7
A) 242 A) 3.4ms 2
B) 3.5ms 2 B) 35mezE
C) 36 ms 2 C) 36ms—2
e D) 3.7 ms=2

103. Two bodies are projected at angles | 103, =1 Fegani =i &9 1fe § &t 1 31K 9
g and (90°- @) to the horizontal with | 3R (90° —0) =i ¥ wafl e S
the same speed. The ratio of their times | ¥ o W FE & oo o ana
of flight is o S Bl
A) §inB:1 A) sin@:1
B) cos@:1 B) cos0: 1
S)RSIN0:C080 C) sind: coso
D) cos8:sing D) cos®: sind

A | Page No. 30 3EE




104,

105.

106.

107.

The co-efficient of friction between two
surfaces is |1 =0.8. The tension in the
string as shown in the figure is

A)ON B) 6N
C)4N D)BN
A body of density p and volume V is

lifted through height h in a liquid of .
density ¢ (<p). The increase in
potential energy of the body is

A) V(p-a)gh
B) Vpgh

C) Vegh
D) Zero
A tunnel is dug along the diameter of
the earth. A mass m is dropped into it.

How much time does it take to cross the
earth ?

A) 169.2 minutes
B) 84.6 minutes
C) 21.2 minutes
D) 42.3 minutes

A curved road of diameter 1.8 kmv'is
banked so that no friction is required
at a speed of 30 m/s. What is the

banking angle ?
A) 6°
C) 26°

B) 16°
D) 0.6°

104,

105.

106.

107.

21 Gers! % == % oy 1 ore u=0.8 B
o #f it € &m0 7 7

B)6N
D) 8N

A)ON
C) 4N

g9 g (<p) Fvm A Sud h@ wved p
AR T V F & F B FW IS
am & | =g ) R i A gy

14

A) V(p-o)gh
B) Vpgh

C) Vogh

D) I3

o g1 % et & sure & ward | a
T § | o wemE mo3ed i R o
21 g = om w3/ fRe
am R ?

A) 169.2 firz

B) 84.6 fimz

C) 21.2 ez

D) 42.3 fime

1.8 . fl. = 1 SR Ew WA
T #, a1 30 e ufs dshe 1 nfa m
wor ) STy e 8 | @ 9 R

. WRT
A) 6° B) 16°
C) 26° D) 0.6°
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108,

108.

110.

The moment of inertia of a sphere of
mass M and radius R about an axis

| 2
passing through its centre is & MR?,

The radius of E__..mE: of the sphere
about a parallel axis to the above and
tangent to the sphere is

A) mm

(8

The length of a metal wire is [, when

the tension in itis T, andis [, when

the tensionis T, . The natural length of
wire is

hth
2

B) VLl
LTg =kl

L-T,

LTz+BTy
T.+T,

A)

C)

D)

In each heart beat, a heart pumps 80 m! of
blood at an average pressure of 100 mm
of Hg. Assuming 60 heart beats per
second, the power output of the heart is
(Prg =13.6x10% kgm *)(g =9.8ms ?)
A) 1.0W B) 1.06 W

C) 1.12W D) 216 W

(el

108.

109.

e M 3 e R & am % a6 &3
# 9K EHaTe A & Feed & AT
mz%fﬁ#mﬂ%ﬂ%ﬁ#

WHIATGL 318 o W1 g ey v fwn
8

A LR

(8

Hig % Al Sag [, 8 59 I6H 79 T,
23R L, 8T TE T, & | TR Wl
) R

L+l
A) >

B) Jii

LT =6T,
-,

8) 2R

C)

LTa + BT,
T+ T,

D)

110. T g5 ° 534 100 fr.ft, Hg & sfwazam

7 80 1.7, 0 =1 vy wen B 1 Wi 95 60
LUl G ugHAl R, 91 §29 & IR 9

Rl (pyg=13.6x10 kgm®)
(g=9.8ms %)
A) 1.0W

C) 1.12W

B) 1.06 W
D) 216 W
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111. Two liquids A and B are at 32°C and
24°C. When mixed in equal masses
the temperature of _.._:_HEE is found to
be 28°C. Their specific heats are in
the ratio

A) 3:2 B)2:3
C)1:1 D) 4:3
112. If pressure and temperature of an ideal

gas are doubled and volume is halved,
the number of molecules of gas

A) m%a half
Eﬁﬁﬂ.ﬁ two times

C) Become four times

. D) Remain constant

113._The rms speed of oxygen at room
temperature Is about 500 m/s. The rms
speed of hydrogen at the same
temperature is about

A) 125m/s B) 2000 mvs
C) B00O m/s D) 31 m/s

114. The distance between two points

differing in phase by 60° on a wave
having a wave velocity 360 m/s and

frequency 500 Hz is
A) 0.72m B) 0.18m

C) 0.12m D) 0.36 m
115. ____. particle moves according to the law

m
X =ICOS—. The distance covered by

2
it in the time interval between t =0 and
t=3sis
A)r B) 2r
C) 3r D) 4r

111.

112,

113,

114,

217 A 3t B 32°C siR24°C R § |
¥ 21 w1 FOF 7o ¥ e s g,
wa foror =1 a9 28°C € wrar & | 3
fafive il @ e 2

A) 3:2 B) 2:3

) 1: D) 4:3

R & Ay e w TEmE R e
QAT 81 e & 3 v e g e Y,
778 ¥ i i wen :
A) el 8 =t

B) @ I 8 Wl B

C) | 8 awh #
D) fér e &

FH % TEE W e ® o ms g
=TT 500 mvs § | IE A9 T ETEE

&1 rms nfa s 1

A) 125 m/s B) 2000 m/s
~ C) 8000 m/s D) 31 m/s

360 m/s 70 A 3N 500 Hz s &

a0 W &F § 60° g rem A figat &

fa g ¥

A) 0.72m B) 0.18m

C) 0.12m D) 0.36m

115.

unqnﬂm e & 33 o % e
21t =03t = 3s % #r" g9 3ioUe &

3 7 7 3
A) r B) 2r
C) ar D) 4r

A | PagaNo.33 | 3EE
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1186.

137

118.

A charged particle moves with a velocity
\.in a circular path of radius R around a
long uniformly charged conductor then

A) V=R

4
R

1
C) fglm

D) Vis independent of R

B) Ve

The capacitance of a parallel plate

4
capacitor becomes 3 times its original

value if a dielectric slab of thicknass
d

l=— is inserted between the plates

2

(where d is the distance of separation
between the plates). What is the dielectric
constant of the slab ?

A) K=2

B K=} ,
C) K=1

D) K=+2

A letter 'A' is constructed of a uniform

wire with resistance 100cm . The.

sides of the letter are 20 cm and the
cross-piece in the middie is 10 cm long.
The apex angle is 60°. The resistance
between the ends of the legs is

A) 50.0 Q
B) 26.7 0
C) 2720
D) 34 Q

116.

117.

118.

a2 wa wifts &1 s R & Memesir 99
THEIT V B o U HEE TIRE St
% =] 3 =ew 8, a@

A) V=R

|
Vo
B) =

1
JR
D) R¥V a3 8

CYnViss

ot t=5 ek S A
2 @ % s PR R o @, @
ST S g ) A A
Ty R Y| TR SR
fere = R 7 (ot e & i\ & gus

#FgidR)
A) K=2

B) K=,

C) K=1
D) K=+2

yftig 1.0 Q cm ! % F1¥ T §HH AW
& vl ‘A T T R | ol B e
20 cm & wsg # sFpwEw @€ 10 cm
= 2 | 3 o B0° B | T ¥ I w
i (08115201 SRR

A) 500 Q

B) 26.7 Q

C) 272 Q

D) 34 O

ﬁ Page _.._m. 34 _
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A wire loop PQRSP formed by joining
two semicircular wires of radii R, and R,
carries a current 1 as shown in figure
below. The magnitude of magnetic
induction at cenire C is

119.

120.

121.

The magnetic flux through a coil varies

with time as Q = 5t% + 6t + 9. The ratio
of emiatt=3stot=0s will be
A) 1:9 B)1:6
C)6:1 D) 9:1

An alternating voltage V =\, sinwt is

connected to a capacitor of capacity
C, through an A.C. ammeter of zero

resistance. The reading of ammeter is
)/ V;
N T2 ) uciz
wC
C) &m‘ D) VyaC

119. fism R, afk R, % 2t sfagdemm o &
i = o srgem an wfey PQRSP
& Ffor B &, & a1 @ e
wen & 1 %% C W e e w1 fream
— R

f
D) Mol .L

120, S & e & yEh v

Q=51+ 6t+9 ¥ 38 T F WY
Tfaffaem e it=3s At =0s 7F emi®

I Ll
A)1:9 B) 1:6
C)6:1 D) 9:1

[ Wi & ¢ &, ¥t g C, s
Huufa® V=V, sinwot yermeEd dees
& sitwr man & | W At 2

C) m% D) VyaC

121.

| Page No:S5 |

3EE




122. Whatis the required condition, if the light

123.

124,

incident on one face of a prism, does
not emerge from the other face 7

A
A) :ﬁﬂﬁﬂﬁMW

z)! :Ammnm_.u

C) n>sec A

D) :vnnmmnHMw

The critical angle for glass s 41°48’
and that for water is 48°3g’. Calculate

the critical angle for glass-water
interface,

A) 62°43
C) s2°42

B) 34742
D) 44-42’

In Young's double siit experiment, one
of the slits is wider than the other, so
that the amplitude of light from one slit
is double of that from the other slit. I I,
is the maximum intensity, what is the
resultant intensity when they interfere at
phase difference Q 7

f 3
A) Wm_.. ._lmnnm_n..m

4

Inf, 2Q)
B + Beos® —
u 9 \ M.___

c) Wi._lmnnmm&

D) WH._JE_._NWU

123.

122, =f2 firsm & v o v e sl 2

& ol get ured @ w1 B, 4 e
ndw R ?
A) :Anﬁunhmw

2
vl
C) n>secA

A m
D) :u.nﬂm.ﬂmﬂy _
HE &1 Hifew F19 41°48 3 ot =
HIw F 48°36° & | Fa - T &
Tw 7 iR By S ;
A) g2e43 B) 34042
C) 52°42 D) 44042’

124,

( Page No. 36 |

irﬂﬂﬁﬁuﬁm,ﬁﬁmﬂ%
welie # fawga 8 | woftn o wehie & wom
£ M g wfe @ g &) am ks
st dizen & ), 9@ T8 96 % &
I Q # efem w @ 2, 7w shomi
fie e g ?

A) mmn_.ﬁ._l mn_n.mmm.w

B) mm___.ﬁ._,_. mnﬂumu

¢) ‘21-8cos?q)

D) wﬁ._lﬂ_._m..w“
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125. Maximum kinetic energy of a 125, Fmafia fafemo i smfa () F au

photoelectron varies with the frequency wre el i sifteman i
* () of the incident radiation as gitafia el 8, ¥
A) E, 4 A) Exp
I\ > JK |
B) EcA B) E A

A PageNo, 37 | 3EE




126.

127.

128,

In Balmer series for hydrogen atom, find
the energy of photon corresponding to

Ipngest wavelength.
A) 189eV
B) 3.03 eV
C) 1.89 eV
D) 30.3eV

The half life period of a radioactive
element X is same as the mean life time
of another radioactive element Y.

Initially they have the same number of
atoms. Then

A) X and Y decay at same rate always
B) X will decay faster than Y
C) Y will decay faster than X

D) X and Y have same decay rate
initially

Cobalt - 57 is radioactive, emitting

f -particles. The half life for this is 270
days. If 100 mg of this is kept in an
open container the mass of Cobalt - 57
after 540 days will be

A) 50 mg

50
B) Tmu mg
C) 25mg
D) Zero

126, "1 sr@en ¥ wregteE gomy & feng,
wad vl o & g § wEe i el
e @i |
A) 18.9 eV
B) 3.03 eV
C) 1.88 eV

D) 30.3 eV

127, o= il qeesa X &1 S e
gat i geresy Y & aitaw =
& aue ® | yeadt § 3 wE weE wEn
5 oEm 4 @
A) Xlmyemam di st wwen &
B) Y ¥ gemi # X o9 & wean #
C) Xt gern # Y ¥h & wea }
D) weam § X ol Y = uw @ s @

128, FHEwe — 57 fednndfi & S p-Foit =
IO 1§ | §HE A Sfiee 270 A
%) 7 5% 100 mg F1 g s @
w1 #, @ 540 7 9= FEwe - 57 %
i L
A) 50 mg

50
B) TMW mg
C) 25mg
D) A

| Page No. 38 |
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129. In the circuit of figure, treat diode as
ideal, current in the 4 Q resistor is

+ gf_lﬂ;

Wnn_

Tiav

A) 2A B) 3A
Em.p Eﬂp

130. ___.nu..__ﬁa_._u microscope Is focussed on
an ink dot. When a glass slab (n = 1.5)
of thickness 9 cm is introduced on the
dot, the travelling microscope has to be

maoved by

A) 3cmupwards
B) 5 cm upwards
‘C) 3 cm downwards
D) 5 em downwards

131, A stationary object is released from a
point P a distance 3R from the centre
of the moon which has radius R and
mass M. Which one of the following
expressions gives the speed of the
object on hitting the maon ?

2GM Y? (4GM

B), [

A) [r—
___ﬂ‘__ _.H—n_.

(2GM Y* ‘GM
R D) R/

C)
4 _.m

129, ﬂ?uwmmmmu_ﬂﬂiﬂaﬂ
40 vl dawm

i _|ﬂ

L S

12v

A) 2A B) 3A
12 30
C) = A D) 33 A

130. U TH1 MHREEN T T EE F g
W HED Fm IR | 9= 9 /.. wernae
e 24 (n = 1.5) F1 frg R T s
LR e b = ot o R
1 B |
A) 381, T i 3in
B) 58,1, Im A 3
C) 3&.1. 4" Ft am

D) 5 &1 &= i o

131. R B 3t M z=mmaT 92 % 2 |
3R 1 f=ig P © u= fon g %1 91 fen
e @ | 5 ¥ oA e e e
| & # aiftvsafam anfdt 2 7

_,mmI,,_m _,..nm-_.___

A) B) |-
| R '\ =

/

1”&.21“ Dw 1@
R R

b 4

C)

| Page No-39 |
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132. A stream of water flowing horizontally | 135 gt & sme 15 me=" 717 3 5 102 m2
with a speed of 15 ms~" gushes out of a . m_
tube of cross-sectional area 1072 m?and FIF BT ARG *F A IR W ‘
hits a vertical wall nearly. The force FeT w2 s aA dapn mewTd gy |
exerted on the wall by the impact of i
water assuming it does not rebound is wftE el § 8 Wd §Y 9 & 3E
A) 2.25x10° N GRS €

3
B) 2.5x10°N @lf220 O
B y 3
C) 3.0x10°N REELL
| C) 3.0x10° N
D) 35x10°N
D) 35x10°N

133. Two identical charged spheres are
suspended by strings of equal lengths. | 133. & &5 WIftT 39 ) GHE @18 F SUA
The strings make an angle of 30° with wewa S B I B uE-gwt @ 30° W |
m.mnz n_“m._mr E:m:.m:mnm:nmn _=m_ﬁfa = 7 21 0.8 g onv® T & 74 3
of density 0.8 g cm™ the angle remains Rl A |
the same. If density of the material of the TR W REIEIL BT LB
sphere is 1.6 g cm™3, the dielectric =1 gt % w1 .6/ g e O}, A z@
constant of the liquid is UgaE B
A) 1 A) 1
) B) 4
C) 3 C) 3
D)2 D) 2

134. An electric field E = (2 + 3))N/C 134, E = (21 + 3])N/C frge & 3
exists in'space. The potential virae & | fve fufy wfewm 7 =0+ 2]
difference (Vo — V) between two gl
points P and Q whose position vectors HTTp=2i+j+k ¢, PalrQ&am
mqu._,+m.w and _qn_um“,Li:m _w_ﬁ._ﬂ?mlﬂn”_ 2
A) -1V A) =1V
B) 2V B) 2V
C) -3V C) -3V
D) 4V D) 4V

£~ @iﬁh& 3EE ‘_




135. In the circuit below, the potential
difference between A and B is

i

.J_a: B) 20V
"chaov D) 40V

136. A copper wire of 3 mm? cross sectional
area carries a current of 5 ampere. The
magnitude of the drift velocity for the
electrons in the wire, (Assume copper
to be monovalent, Mg, = 63.5 kg/k mol
and density of copper = 8920 kg/m3)
A) 0.24m/s B) 0.12 m/s

C) 24m/s D) 0.06 m/s

Two Ema parallel wires placed 0.08 m
apart carry currents 3 A and 5 A in the
same direction. What is the distance
from the conductor carrying larger
current to the point where the resultant
magnetic field is zero 7

A) 0.5m B) 0.04m

C) 0.06m D) 0.4m

The relative permeability is represented
by p, and the susceptibility by % for a
magnetic substance. Then for a
paramagnetic substance

A) 1w, >1x<0 B) u,>1,3%>0
C) u<1y<0 D) u <1x>0

137.

138.

135.

136.

137.

138.

‘Ad
Ritmaffed Aslkps o=
o 8

, | 180V
"

10F
_ _ : _
11 A T_w
10F F

A) 10V B) 20V

C) 30V D) 40V

3 mim? e % S & SRS SR

ORI T 98T w81 9§ gergig % g
HoEE g H fBRan ¥ (e it
F DR B, Mg, = 63.5 kgk mol 3k
HIH U = 8020 kg/m®)

A) 0.24 m/s B) 0.12m/s

C) 2.4m/s D) 0.08 nvs

0.08 Hiex & a7em 2t welt wHioR O wH @
fesm # 3 A 3f 5 A a0 7E wh #) g5
HTT % 98 FCER Fea § 9wl gah
&% ¥ 8, 96 fig ow g et B 7
A) 0.5m B) 0.04 m
C) 0.05m D) 0.4m

T erwefieren 1, TR0 gata & o
queha gerd & vy wdeeiem L 8@
sFrgeHE ve & f
A) u>1x<0
C) p, <1x<0

B) w>1%>0
D) w<1x>0

Al @.&___.. No.41 |

3EE




- 138.

140,

141.

A transformer of efficiency 90% has
tumns ratio 1 : 10. if the voltage across
the primary is 220 V and current in the
primary is 0.5 A, then the current in
secondary is

A) 55A
B) 5A
C) 4A
D) 45A

A 1 cm height needie is placed at a
distance of 0.1 m from a convex mirror
of focal length 0.05 m, then size of the

Image is
A) 1cm
B) 0.66 cm
C) 0.33cm
D) 0.5cm

If g is the polarising angle for two optical
media whose critical angles are C, and
C, then the correct relation is

sin
A Emuﬂm

130.

140.

141,

90% FIE TFHBIT T 26 I 1: 10
81 o wuftm oo Sedw 220 V & 3l
wrafiig 3 ara 0.5 A R, @ fiefias &

qr R

A) 55A
B)5A
C) 4A
D) 45A

0.05 m B gt % 9% 209 F 0.1m
FPRicmEIHgiR @ g, @
wtmsamr _ #)

A) 1ecm
B) 0.66 cm
C) 0.33cm
D) 0.5 cm

af & e w1 g w6

&, Forae wift %1 C, s C, @ wdht
#y B

_sinGC
A) sinB= SnC,

3EE
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142, Two thin lenses have a combined power

of +8D. When they are separated by a

-+ distance of 20 cm, their equivalent

143.

power Ennanm +mn: then their

-!E:E.Euoinﬂui

A) 6D and 3D
B) 8D and 4D
Q.u.ﬁ.ni@u
Emﬂnimﬂ

__,mﬁaﬂanﬁi:!:ﬁ-wmi

displaced and then let go, then the

system shall oscillate with a time

* period of

142, @ w ofm A dg9 a2 +9D ¥ 1 A

143.

3R 20 Q.. gl & svew R &,

o et g v + 200 e,
™ It safdRnma T g1

A) 6D 3k 3D

B) 6D #x 4D
C) 9D ¥ 3D
D) 9D #k 6D

afe st # Fwiy 7 e A e 3
farenfa fFm smn & ol e e Ran
s, M wwmemEhE

- | e B |

(Fosenas3)

- 3EE
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144,

145.

1486.

In Young's double slit experiment, using
a monochromatic light of wavelength 3,
the intensity of light at a point on the
screen where path difference is 3 is K
units. Then the intensity of light at a point

where path difference is %4 is

K
A) 5

B) 2K
C) 4K

K
U“_ 2

The temperature co-gfficient of resistance
of a wire is 0.00125/°C. Its resistance is
10 at 300 K. At what temperature, ils
resistance willbe 20 ?

A) 1127 K
B) 854 K
C) 1217 K
D) 1154 K

If the vertical component of earth's
magnetic field at a place is /3 times
the horizontal component, then the
value of dip at that place is

A) 60°
B) 45°
C) 30°
D) 16°

144,

145.

148.

7 it e e w86, A aonded %
HHBANTEE Wel & T A OhR ¥
g W awl 9y Fm At = wwm A

fian K gadat & 1 i o sfw Ay §
v drdEm

K
}_”_m.

B) 2K
C) 4K

K
DH.M

AT 3 SRS 7 A0 U0 0.00125/°C
1 300 K w 3w wRdy 1Q 2 frg
AR W IEF YRy 2Q 8m ?

A) 1127 K
B) 854 K
C) 1217K
D) 1154 K

Rt et vum gt ) ey A @
e uew 36 Aftw vew A /3 T,
MW RIME B

A) 60°
B) 45°
C) 30
D) 15°

Tnu-zu.ﬂ_




147.

148.

149,

150.

An electron and a proton entera

magnetic field perpendicularly both
have same kinetic energy. Which of

the following is true ?

A) Trajectory of electron is less curved
B) Trajectory of proton s less curved
C) Both trajectorles are equally curved
D) Both move on straight line path
The reason a moving coll galvanometer

cannol be used with an alternating
current Is that

A) The coil bends easily

B) The coll heats up too much

C) Sparks can be produced

D) The net magnetic field produced is
zero

Select the output Y of the combination
of gates shown in figure for inputs A = 1,
B=0;A=1,B=1 andA=0,B=0

iy

G

147.

148.

vl
W e w1 & e e
g S9N a2
Freafefaa i o ad g 7
A) FiaH 6 Wi~y F grERn &
B) Wef % wé-uy w7 TrEER 2
C) &H1 wedy-vy 9 gurEsn &
D) 21 = Y& 19 W wew &

& Wl $Ee Neniie @1 3w w
el ur & w7 R e
T

A) FEa 3er @ e &

 B) $Ew TE siftws ava

149.

C) fermdt fmfor & wareht 2
D) Y= Sweta &9 =1 finfor gy

Pt foer 3 awrfe e Az 3 v & won,
¥EA=1,B=0,A=1,B=13A=0,
B = 0 % fow ez v w1 v it |

ferth o
Ho D

A) (0,1, 1) B) (1,0,1) A) (0,1,1) B) (1,0, 1)
C) (1,1,1) D) (1,0,0) C) :___._: D) (1,0,0)
The minimum number of geostationary 150. frresrae 4ffds wanm ¥ for snaws
S e e
A) 3 B) 5 A) 3 B) 5
C) 7 D)s C) 7 D) 9
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__Answer Key for 3EE (Set-A)

Q. No. | Answer Ke Q. No. | Answer xnr Q. No. Answer Key
1 C _ 51 A 101 B
2 B 52 B 102 C
3 C 53 D 103 C
4 A 54 & 104 A
5 A 55 C 105 A
6 A 56 B 106 D
T D 57 c 107 A
8 B 58 A 108 c
9 C 59 A 108 [
10 D 60 A 110 B
11 B 61 B | 111 C
12 D 62 C 112 A
13 A 63 B 113 B
14 A 64 D 114 C
15 C 65 A 115 -
16 D 66 B 116 D
17 A 67 B 117 A

18 c 68 B 118 B
18 B 69 c 119 B
20 C 70 D 120 c
21 C 1 71 C 121 C
22 A 72 D 122 D
23 =] [ ] D 123 A
24 D 74 B 124 B
25 C 75 C 125 B
26 B 76 C | 126 C
27 B 7 C 127 B8
28 C 78 A 128 C
29 A 79 B 129 A
30 B 80 B 130 A
31 B 81 C 131 B
32 c 82 A 132 A
33 D 83 D 133 D
34 B B4 C 134 A
a5 A B85 D 135 A
36 B B& o 136 B
a7 A B7 D 137 c
38 D B8 D 138 B
39 A 89 C 139 D
40 B 80 A 140 c
41 A | = C 141 C
42 C q2 D 142 A
43 B 93 A 143 B
44 D 94 B 144 D
45 A g5 C 145 A
46 B 96 B 146 A
47 A a7 A 147 B
48 B 98 D 148 D
49 C 99 B 149 D
|__50 A 100 _A } 150 A




